%

Prvok izotop reakcia o T Castice Q Enmax
1 *He *He(n,p)°H p, t 0,764
2 Li 74 ®Li (n, o) °H 935 stabilny |a, t 4.7
3 B 19,5 B (n, a) "Li 3837 stabilny |a 2,3
4 1%Rh (n, v) '*”Rh 144 43's B 2,41
1%Rh (n, n) '®"Rh 57m rtg. lude 0,02
Rh 100 103 104m
Rh (n, y) "*"Rh 11 4,4m B 0,5
5 51,4 9Ag (n, y) "®Ag 44 2,4m B 1,64
'%Ag (n, y) "°Ag 110 245 s B 2,87
Ag 48’7 109 110m
Ag (n,y) "Ag 3 254d B 1,5
6 Cd 12,3 13¢d (n, y) *cd 20000 |stabiny |y 9
7 115 116 3,3 a
In (n, y) *°In 45 14s B 0,44
In 95,7 115 116m 1,0 a
In(n,v) In 154 54 m B 0.45
8 149 150 ey
13,9 Sm (n,y) ~°Sm 41500 stabilny |y
Sm
26,6 28m (n, y) *°Sm 210 46,7 h B 0,8a0,1
9 o 14,7 °Gd (n, e) *°Gd 58000 |stabilny |e 0,14
15,7 Gd (n, e) *°Gd 240000 |stabilny |e 0,13
e 1840y (n, y) *°Dy 800 23h B OO
Dy 28,1 ’
184Dy (n, y) "Dy 2000 |126m |g 8
e Au  |100 19774 (n, y) AU 988 |260d | 09 2
12 235
U 0.7 U(n,f) 585 fragmenty 160
Tabulka 11.1

Navrat z acrobat readera - E{ (zatvorenim okna)




